GSE Algebral ll

Name

5A.3 - Condense Logs - Homework

Date

1. Condense:
IN3+INXx —Iny —2Inz

2. Condense:

In5+%|nx+2|nz

3. Condense:

logs 9 + %Iog5 k+2logsp

4. Condense:
In4+3Inx —5Iny

5. Condense:
logz a—2logs b —3logs ¢

6. Condense:
logx + 2logy +3logz —logb

7. Condense:
2logz x +logsy

8. Condense:
log5 +logx —logy

9. Condense:
3logz x —logs 7 — 4logy y

10. Condense:
3logs 3 +2logs a—logs b —2logs
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Name Date
11. Solve 12. Solve
333(—5 +2 — 83 10g4(5x—4):2
13. Solve 14. Solve
2 552 111=261 ~15log, (3x +2) = —45
15. Expand 16. Expand
In242b° log 3Jb
2
a4c2

17. Expand 18. Expand

3x* log, w3k %
log—r=

iz




